P 33A-3M0 .20, 2U. 26-31(W 43yl ),
ya, s° GG+ % +x DRb

RO X )-8 DR @Z (41 §726% 7,
QY-37K @k
@\\cgzﬁxs_%{]"\

6O K-S DXL
gD X253 690 £X
6o-a X Oxe-

N

@ QX?- lL‘/}



6.4 Solving Compand  Dec . 14, 2006

a—

o -~ . \\ 4
IY\Q{Um\IT)'le,S _\_n\Jo\vnlS éwtl\'(eA/‘Sed‘ubf\

%.&l ,l:l/ 6/g§“a’\a(// il’.';l%/ils_}
whetie, =3 MG

Wete « Co '\ﬁ'x_r\ec(yod{b/ Thet

rePpcsqyrt,S S)ieq,‘lre,r* Tl/\ah Ore.q'Va.\ +0
o 7,
Tero and” legs Phank.  Gf0

Jou chia

X =0and xc bt U
O< X and X Z_ b
O< XL b




AN Graph ALy L O

—Q O

What does this Mean?

//g/ ﬂf'edégf"l"(/\c.v\ "Q o\nCR
les s +l\cﬂ Q






ery -3§2x+|_}7§
_y W

Ty LXx =21

2 KX 2

RE X =

—






O.T.L.

0, P;z%‘—-é%:
-\ (o J-
gﬁ('W (0);

10-44(e):
Ve



	Page 1: Feb 07 - 10:37 AM
	Page 2: Feb 07 - 8:05 AM
	Page 3: Feb 07 - 8:21 AM
	Page 4: Feb 07 - 8:26 AM
	Page 5: Feb 07 - 8:32 AM
	Page 6: Feb 07 - 8:37 AM
	Page 7: Feb 07 - 8:42 AM

